
XL48 

USER MANUAL 

24383-0lA 



SunDome® warrants your tanning unit to be free of structural defects in its material and 
workmanship, under normal use, for its lifetime. SunDome will or replace, at their 

discretion, any defect to the structure which affects the performance of the unit. 
For 6 months from the date of purchase, SunDome will provide replacements for parts that 

prove to be defective in material or workmanship. Acrylic shields, fluorescent lamps, and 
lamp starters are excluded from this warranty. Labor will be covered for 30 days from pur­

chase date. Normal wear, damage from misuse or abuse, damage incurred in transit, or 
damage done by unauthorized repairs or modifications are not covered by this warranty. 

ETS, Inc. disclaims any implied warranty of merchantability or fitness for any period 
beyond the expressed warranty. Some states do not allow limitations on how long an 

implied warranty lasts, so the above limitations may not apply to you. 
No one has authority to change or modify this Limited Lifetime Warranty in any respect. To 
obtain service under the Limited Lifetime Warranty, contact ETS, Inc. at l-800-449-3605,

and ask for the Technical Service Department. 
ETS, Inc. shall not be liable for loss of use, loss of time , inconvenience, rental or substitute 

products, loss of business, loss of income, or any other incidental or consequential damages. 
Some states do not allow the exclusion or limitation of incidental or consequential damages, 

so the above limitation or exclusion may not apply to you. 
This warranty gives you specific legal rights, and you may also have other rights which may 

vary from state to state. 
All warranty �ervice must be performed by an authorized service person. If your tanning 

unit must be returned for service, all freight charges must be at your expense. Contact your 
place of purchase for the address of the SunDome Service Center nearest you. Proof of 

pur�hase is requir�d to obtain warranty service. 
This warranty covers the original purchaser only. This warranty is void if the unit is modi­

fied in any manner from its original design. 



kome. _____________ _ 

Congratulations on your purchase of this technologically advanced sun tanning unit. It has been 
designed to provide years of dependable service for you. 

Please read all the instructions in this booklet before installing and using the unit. Always be sure to 
observe all safety precautions. 

nunu ______________ _ 

Safety Information ....................................... . iii 

Installation ............................................. . 1 
Unpacking and Inspection .............................. 1 
Pre-Installation Planning ............................... 2 
Tools Required ..................................... .3 
Hardware Inventory ................................... 3 
Assembly Procedures .................................. 5 
Electrical Connections ................................ 19 
Remote Connections . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . .20 · 

Operation ............................................ . 23 
Before You Tan . . . . . . . . . . . . . . . . . . . . . . . . . . . . . . ....... 23 
Exposure Times ..................................... 23 
Using Your Booth .................................... 24 

Care and Maintenance ................................... . 26 
Cleaning After Use ................................... 26 
Thorough Periodic Cleaning ................. i .......... 26 
Hour Counter ...................................... 27 
Mechanical Inspection ..................... .' .......... 27 
Lamp and Grill Maintenance ........................... 28 

Troubleshooting ........................................ . 29 

ii 



ifety Information ______ �
LABELING NOTICE: Labels are affixed on all systems to inform the user of possible dangers. Regulations are stated in 21 CFR, Section 
1040.20, and require that all products manufactured after September 8, 1986 which use sunlamps must display the following: 

DANGER 
Ultraviolet radiation. Follow instructions. Avoid overexposure. As with natural sunlight. overexposure can 
cause eye and skin injury and allergic reactions. Repeated exposure may cause premature aging of the skin 

and skin cancer. WEAR PROTECTIVE EYEWEAR; FAILURE TO MAY RESULT IN SEVERE BURNS OR LONGTERM INJURY TO THE 
EYES. Medications or cosmetics may increase your sensitivity to the ultraviolet radiation. Consult physician before using sunlamp if 
you are using medications or have a history of skin problems or believe yourself especially sensitive to sunlight If you do not tan in 
the sun, you are unlikely to tan from the use of this product. Children, the elderly, or fair skinned people who burn easily and 
either never tan or tan minimally should not use this equipment 

For a uniform tan, center yourself within the booth both front and back and to the left and right. This will result in your body being 
equidistant from all lamps. Other positions may result in overexposure to parts of your body. Do not use without metal grids in place. 
Untanned persons should not tan on consecutive days during their first week of tanning. Never tan more than once a day. Tanning 
normally appears after the first few sessions and maximizes after approximately four weeks. Tan once or twice per week thereafter to 
maintain appearance. Persons already having a base tan may begin at advanced levels corresponding to the extent of their base tan. 

RECOMMENDED EXPOSURE TIMES IN MINUTES MAXIMUM EXPOSURE TIME IS 10 MINUTES 

level 1/Week 1 
level 2 Level 3 level 4 

Subsequent 
Skin Type: 1st-3rd Sessions Maximum 

I Sensitive Skin (Bums easily and severelv and does not tan.) NOT RECOMMENDED fORTANNING 

II Light (Burns easily and severely and tans minimally.) 2 4 6 8 10 

III Nonna! (Bums moderately and tans average.) 3 5 7 10 10 

IV Dark (Bums minimally, tans easily and above average.) 4 6 8 10 10 

New lamps emit approximately 10% more ultraviolet radiation during the first 50 hours of operation. Recommended tanning times 
should therefore be reduced by approximately 10% during that period. 

WARNING: • Read the instructions booklet before using this sunlamp product • All persons in the room should wear protective
eyewear when lamps are on . Recommended eyewear: provided eyeshields or equivalent eyewear as defined under 21 CFR 1040.20. 
Other types of eyewear may not provide auc1.1ua,c protection. Failure to use protective eyewear may result in severe burns or other 
eye injury. If discomfort de\lelops, discontinue use and consult a physician. 

ONLY THE FOLLOWING LAMPS HAVE BEEN CERTIFIED FOR USE IN THIS EQUIPMENT: 

SPEED® 325VS-R Wolff® Model SPD75-T12-325VS-R VS-R Bi-Pin 

MEGA VOLTAGE™ GOLD SERIES VS-R™ Model MV75R-T12-160W VS-R Bi-Pin 

DISCONNECT POWER CORD BEFORE ATTEMPTING TO CLEAN, RELAM� OR ENGAGE IN THE MAINTENANCE OF THIS PRODUCT. 

' 

THIS EQUIPMENT MUST BE EARTH GROUNDED. �JI; 
This product is in conformity with performance standards for sun iamp products under 21 CFR PART 1040.20 and c\�

.
IWus 

ANSI/UL Standard 482. Certified to CAN/CSA Standard C22.2 NO. 224. (,sns0 

88465 

m 



Safety Information 

DANGER 
Rayonnement ultraviolet. Veuillez suivre !es instructions. Evitez une exposition excessive; tout comme pour
les rayons du soleil, une exposition excessive peut causer des blessures aux yeux et a la peau et provoquer des 

reactions allergiques. Une exposition repetee peut causer le vieinissement premature de la peau et provoquer le cancer de la peau. 
PORTEZ DES LUNETTES PROTECTRICES: LE NON-RESPECT DE CETTE CONSIGNE DE SECURITE PEUT ENTRAINER DE GRAVES 
BRULURES OU DES LESIONS OCULAIRES A LONG TERME. Les medicaments ou les produits cosmetiques peuvent augmenter votre 
sensibilite au rayonnement ultraviolet. Consultez un medecin avant d'utiliser la lampe solaire si vous prenez des medicaments, si vous 
souffrez d'une maladie cutanee ou si vous croyez etre particulierement sensible aux rayons du soleil. Si vous ne bronzez pas au soleil, 
ii est peu probable que vous bronzerez sous une lampe solaire. Les enfants, /es personnes agees et !es personnes qui ant une peau 
claire qui brule facilement, ne bronze jamais ou alors tres peu, ne devraient pas utiliser cette lampe. 

Pour un bronzage uniforme, placez-vous au centre du compartiment (aussi bien de !'avant a l'arriere que sur les cotes). Ainsi, le corps 
sera a distance egale de toutes les lampes. Un mauvais alignement peut causer une exposition excessive de certaines parties du corps. 
N'utilisez pas la lampe sans !es grilles en fit metallique. La premiere semaine de bronzage, /es personnes qui n'ont pas un hale ini­
tial ne doivent pas se faire bronzer tous /es jours. Ne vous faites jamais bronzer plus d1une fois par jour. Le bronzage commence nor­
malement a appara1tre apres les premieres seances : ii atteint son au bout d' environ quatre semaines. Les personnes qui ont 
deja un teint hale peuvent commencer a des niveaux plus eleves, selon !'importance de leur hale initial. 

TEMPS D'EXPOSITION RECOMMANDE EN MINUTES LE TEMPS D'EXPOSITION MAXIMAL EST DE 10 MINUTES 
Eleve l /Semaine 1 Eleve 2 Eleva 3 Eleve4 Sem. suivantes 

Type de peou: 1"'-3· Temps maximal 

l Peou sensible (brille lacilement et ne bronze pas) NON RECOMMANDE 

II Peou doire (brille 1acilemenl et bronze Ires peu} 2 4 6 8 10 

m Peou OO!lllOle (brule et bronze de foi,on moderee) 3 5 7 10 10 
lV Peou foncee (brute ll'es peu, blonze plus focilement que la moyenne) 4 6 8 10 10 

Les lampes neuves emettent approximativement 10 % de plus de rayons ultraviolets au cours des 50 premieres heures de fonction­
nement. Le temps de bronzage doit done eatre reduit d\rquote environ 10 % pendant cette periode. 

AVERTIS.SEMENT: • Lisez le livret d'instructions avant d'utiliser cette lampe solaire. • Les autres personnes presentes dans la piece 
doivent aussi porter des lunettes protectrices lorsque !es lampes sont allumees. Coquilles de protection pour les yeux recommandees: 
Les coquilles de protection fournies ou !'equivalent, tel que le stipule le document 21 CFR 1040.20. Les autres types de lunettes pro­
tectrices peuvent ne pas assurer une protection adequate. Utilise sans lunettes protectrices, ce produit peut causer des brulures ou 
lesions oculaires graves. Si vous souffrez d1un malaise, arretez !'utilisation et consultez un medecin. 

SEULES LES LAMPES INDIQUEES CI-DESSOUS ONT ETE HOMOlOGUEES POUR CET EQUIPEMENT: 

SPEED® 325VS-R Wolff® Modele SPD75-T12-325VS-R VS-R Bi-Pin 

MEGA VOLTAGE™ Gorn SERIES VS-R™ Modele MV75R-T12-160W VS-R Bi-Pin 

ATTENTION: Debranchez le cordon d'alimentation a\ant de nettoyer l'appareil, d1en faire l'entretien ou de changer les lampes. 

Cet equipement doit etre mis a la terre. 

c us 
Ce produit est conforme aux normes de rendement pour Jes !ampes solaires dans le documents 21 CFR, partie 

l/sTE'J 1040.20, ANSI/UL 482 
1 CAN/CSA C22.2 N° 224. 

88465 



nstallation. ___________ _ 

Unpacking and Inspection 

The SunDome® comes in seven boxes. 
For ease of assembly, after inspection 
leave everything in its box until called for 
in the assembly instructions. 

Open each box and inspect the contents 
and make sure they are free from any vis­
ible damage. Report the extent of any 
damage to the transportation company. 

Note! The cartons are reusable if you need 
to move the unit, or in the unlikely event 
that you may find it necessary to return 
your equipment. 

1 

As you unpack your boxes you should 
find the following: 

• Pedestal (box 1 )
• Control Module (box 2)
• Bag containing necessary assembly

hardware, and safety goggles (box 2)
• Left Module (box 3)
• Right Module (box 4)
• Left Door (box 5)
• Right Door (box 6)
• Dome Assembly (box 7)
• Two Long Handles
• Two Long Trim Profiles
• Timer Assembly (box 7)

Record the serial number of the control 
module in the area provided at the back of 
this manual. This information will be 
required if you ever need to call customer 
service. 



Installation - Pre-Installation Planning ,,.. 

Pre-Installation Planning 
Before you begin to assemble your booth, you should observe the following consid­
erations. 

AWARNING 
Shock hazard. 
Disc��nect power before 
serv1cmg. 

• The SunDome® XL48 operates from
a 220V AC power source. The unit
should be hardwired directly to a
junction box on a dedicated circuit
capable of providing 60 Amp service.
We recommend connection by a
professional electrician.

• IMPORTANT! Voltage must be below
230V AC or may require a Buck
Booster.

A CAUTION 

Use of a voltage source above 230V 
AC may prevent proper operation of 
the booth and could cause damage 
and void the warranty. 

A CAUTION 

Air from the room is used to cool 
the unit. Maximum ambient room 
temperature should be 80°F. Place 
your booth no closer than 6" from 
any wall. Make sure nothing 
obstructs the airflow into or out of 
the fan openings. A poorly ventilated 
room may cause the unit to become 
hot and cause discomfort to the 
user. 

A CAUTION 

Proper assembly of your booth 
requires two people. Plan to have a 
helper or two assist you. 

2 



Installation - Tools Required 

Tools Required 
You will need the following tools to 
assemble your booth. 

3 

#2 Phillips Screwdriver 

7 /16" Wrench 
(or adjustable wrench) 

Hardware Inventory 

Open the hardware bag and remove the 
hardware. Make sure you have the follow­
ing items. 

1 /4-20 X 3/4" 
Hex Head Bolt 

Quantity - 9 

1 /4" Flat Washer 
Quantity 9 

Joint Plate 
Quantity 2 

Wire Clamp 
Quantity 2 

#10-32 x 1 /2 11 Screw 
Quantity - 16 

#10-32 Flange Nut 
Quantity 4 

Bronze 
Hinge Bushing 

Quantity 4 



o Hinge Locking Pin
Quantity - 4 

Magnet 
Strike Plate 

Quantity 2 

Shim Washer 
Quantity 4 

Inside Door Handle 
Quantity - 2 

Safety Goggles 
Quantity - 1 

Installation Hardware Inventory 

Additional hardware found in Box 7 

� 

#10-32 x 1 /2" Screw 
Quantity - 4 

#8-32 x 1/2" Screw 
Quantity 4 

#10 x 1 /2" Screw 
Quantity - 4 

#10 Flat Washer 
Quantity - 4 

Short "Z" Bracket 
Quantity 2 

Tall "Z" Bracket 
Quantity - 2 

Ti mer Bracket 
Quantity 1 

4 



...,. Installation - Assembly Procedures 

Assembly Procedures 

Put the pedestal (found in box 7) in the 
general area you want the booth. Leave 
some space around the pedestal to work. 

5 

FRONT 



Parts needed: 
Control Module (box 2) 
Left Module (box 3)

Right Module (box 4) 

Remove these two 
screws and lift the 
grill from the unit 
Repeat for the 
other grills. 

LEFT MODULE 

NOTE: Wiring has 
been deleted to 
show details. 

lmtallation - A,sembl:y Procedures 
• 

CONTROL MODULE 
(with power cable on back) 

6 



• Installation - Assembly Procedures

Parts needed: 
Control Module 
Left Module 
Right Module 
9 1/4-20 x 3/4" Hex Head Bolts 
9 - 1 /4" Flat Washers 

Attach modules to pedestal with 
three bolts and washers each, as 
shown. Attach the Control 
Module {center module) first, 
then the other two. Leave the 
bolts slightly loose until all are 
positioned, then tighten. For 
best results, push the left and 
right modules apart as much as 
possible. This will help when 
installing the doors. 

NOTE: Wiring has 
been deleted to 
show details. 

7 
N 
A 
w 

"' 
w 

>



Parts needed: 
2 - Joint Plates 
2 - Wire Clamps 

Joint Plate in 
place. 

NOTE: Wiring has 
been deleted to 
show details. 

Secure one wire 
clamp to each 
·oint plate.

�•..,., 
Installation - Assembly Procedures --a:-

� 

Remove these four 
screws and secure the 
joint plate with them 
as shown at left. 

. 

. 
. 

8 



• Installation - Assembly Procedures

Parts needed: 
2- Inside Door Handles
4 - # 10-32 x 1 /2 11 Screws

9 

1 _______ _ 

If not al ready done, you 
wi I l need to remove the 
grills from both doors. 

2 _______ _ 

Secure handles with 
screws through the 
double grid pattern on 
each door grill. 



Parts needed: 
Grills (removed earlier) 
2 Trim Profiles 

Reinstall the grills. 

Insert trim profiles into 
space between right 
and control module, 
and between left and 
control module. 

NOTE: Wiring has 
been deleted to 
show detai Is. 

Installation - Assembly Procedures • 

10 



• lmtallation - Assembly Procedures

Parts needed: Timer Assembly (box 7) Timer Bracket 4 - #8-32 x 3/4" Screws 

0 

TIMER BRACKET 

TIMER BOX 

11 

Attach the Timer Bracket to the unit, as shown, using two #8-32 x 1 /2" screws. Secure the Timer Box to the bracket with the same type screws, making sure the cables coming out the back of the Timer Box run over the bracket. Connect the cables to the mating cables on top of the booth. 



Parts needed: 
Long Handles 
8 - #10-32 x 1/2" Screws 
4 #10-32 Nuts 

The handles attach with two 
screws to the top of the right 
and left modules and with 
two screws with nuts through 
the double grill wire at the 
bottom, as shown. 

lmtallation - Assembly Procedures • 

12 



• Imtallation Assembly Procedures

Parts needed: 
Left Door (box 5) 
Right Door (box 6) 
4 - Hinge Bushings 
4 - Hinge Locking Pins �� 

3 _____ ......... __ 

lnstall hinge locking 
pins in hole in all four 
hinge posts. 

If a door rubs the 
pedestal, install a 
shim washer on 
the hinge post 
over the bronze 
bushing on both 
the upper and 
lower hinges of 
the affected door. 

NOTE: Wiring has 
been deleted to 
show details. 

13 

1-------

lnsert bronze bushings 
into hinge holes. 

2------

lnsert door hinge 
post into bronze 
bushing. 

N 
,. 
w 

CP 
w 

6 

)> 














































